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Time Allowed: 1 hr 15 min Maximum Marks: 100

INSTRUCTIONS/3raer
1. Booklet Contains 50 questions.
qReTepT 5 50 TA & |
2. All questions carry equal marks
o Tt o 3 T £ |
3. There are four alternatives for the answer to every question. For every wrong answer one third
of the marks assigned to that question will be deducted as penality.

YD TY &b IR P {7 IR fdepey i 81 U Tord SR & 17, S U & FaiRa st § 9§ ve e ol &g
% BT H PHIeT ST |
4. If a candidate gives more than one answer, it will be treated as wrong answer even if one of the

given answers happens to be the correct answer.
Ife pIg IHicaR T I 31feres IR AT &, S Told ITR T ST, ol &) T 10 ITRT & F IS T el
SR |

5. Answer will be marked on the OMR Sheet by filling circle in ink.
ITR PI WIS F AdheT WA INTHIR efie uR 3ifdhet fapam SITe |

1. Baba Saheb Dr. Ambedkar, who had experienced | 1. EICIESIECRSIR IFISIN, N8I S § ST SR HevTd
the worst form of caste based discrimination during his %Wg%waa‘raaﬁa G| o, I St R I SATfeT b
childhood, fought against upper caste tyranny | IR & Raarh o foham e freferRad & & fops/forT

throughout his life. Which of the following associations | eI/l T TATIT H1?

did he establish? 1. 8RS Qg
1. Harijan Sevak Sangh. 2. 31RgeT HRcir SFRYfre STfer Heml
2. All India Scheduled Caste Federation. 3. Er%&p—cr BB T

3. Bahishkrit Hitkarini Sabha.
Which of the statements given above is/are correct? U ﬁ'(f T P F F PI-AT FeT 287

a) 1and2only a)W’ISﬁ?Z
b) 1and 3 only b) deT 1 3R 3
c) 2and 3only c) a2 3R 3
d) 1,2and3 d)1,23R3
2. In which one of the following mandates the personal | 2. fA=foTRed & I fobdd Tep TSATRYT & 319Meh P A fhITd AT
name of Ashoka is found? BT Ioeig Herar 87
a) Kalsi a) PNl
b) Rukmin Dei b) fFIs
c) Specific Kalinga Mandate c) fafars i IS
d) Masky d) HReh




3. During the reign of which Indian rulers Fahien and
Hiuantsang Chinese travelers did come to India?

a) Chandragupta and Ashoka

b) Samudragupta and Pulakeshin ||

¢) Chandragupta Il and Harshavardhana

d) none of these

4. Who among the following was the founder of the
Tughlug Dynasty?

a) Muhammad-Bin- Tughluq

b) Firoj Shah Tughluqg

¢) Nasiruddin Mahmud

d) Ghazi Malik

3. TIRA e B=RT T AT T AR AT B
ST et H AR 1Y &2

a) SIH qoIT 372MNh

b) HHSH eI Yo foxirr

c) TsIH facliar oo efae

d) g PIE T

4. FAfIREe H & eI iIeTep & el HEATT T2
a) -9 et
b) fORIST T8 et
c) TR HEHa
d) i Afetd

5. ST b FY (IATSHNY) 7 s WRBR A IFRY T & fb
98 TAUIY & HIGET & PRU i DI B dTel JhAM P
T BT B9 IR & forg 'S S Tenfid v | S §F &

5. The Indian Bank Association (IBA) have requested
the Central Government to set up a ‘Bad Bank’' to
reduce the impact of the losses the Banks will face

because of provisioning for NPAs. Consider the
following regarding the ‘Bad Banks':

1. A ‘Bad Bank
distressed assets of a Bank into another Entity.

2. The Economic Survey of 2016-17 advocated that a
Centralized Public Sector Asset Rehabilitation Agency
(PARA) be established to deal with the problem of the
Bad loan.

is a structure that moves the

Which of the statements given above is/are correct?
a) 1only
b) 2only
¢) 1and 2 both
d) Neither 1 nor 2

6, Who is the first river linking project of India which
has been approved by the Central Government?

a) Ganga Yamuna

b) Kosi Gandak

¢) Krishna Godavari

d) Ken Betwa

7. Consider the following statements:
1. Sugarcane juice contains pytonutrients and
antioxidants.
2. Sugarcane juice loses its colour and flavour

Hay § fA=ferRad o faam av:

1. T 4 d&' TP ARl & Sl b db bl Hepcuwa
qRATTRTAT 2T SAL SeTS H of STl &l

2. 2016-17 & 3P AT § T 1T Dl Iapleld Dl T8 off
e S 3801 T FHRAT A Fue & foTq T Deiiepa Hrofies
&1 TRUTRT a1 TordT (PARA) ST TG bt 11T

SR U T P F F HIH-A1RT T &/E?
a)av_CIFH

b) et 2

c) 1 3R 2 g™

d)Tar1 dRTE2

6, YR DI Uge! AT ST TRASHT RRY g TRBR 7 1T+T
O Y& 1 &, B &7

a) TN T

b) DI TedH

c) P METRY

d) & Sdar

7. forIfeTRad oMl W R &
1. 1 & 9 ¥ UTseYfeued iR Gelaifaitee Bid &l
2. GEHSIERT fehueT & BRUT 71 T I ol THY T
R OR AT A 3R 1S G T B




when kept for a long time due to microbial

fermentation.

3. An ozone based cold sterilization technique can

be used for the preservation of sugarcane juice.
Which of the statements given above is/are correct?

a) 1only

b) 2only

c) 1and2only

d) 1,2and3

8. With which seas does Ukraine border
a) Caspian Sea

b) Black Sea

c) Black Sea and Azov Sea

d) Red Sea

9. With reference to the Brahmaputra River System,
consider the following statements:
1. Brahmaputra originated from the Chemayungdung
glacier of the Kailash range.
2. RangoTsyangpo is the major right bank tributary of
the Brahmaputra in Tibet.
3. Subansiri, Kameng, Manas and Sankosh are the
maijor left bank tributaries of the Brahmaputra.
Which of the statements given above is/are correct?
a) 1and2only
b) 3only
c) 1and3only
d) 1,2and3

10, 'Nine dash line' heard in the news is related to

a) bordering China and Taiwan

b) From the border of Ukraine and Russia

c) Chinese Occupied Territories in the South China
Sea

d) US Mexico border area

11. The book 'Milindapanha' is in the form of a dialogue
between the Indo-Greek ruler Milinda and which Buddhist
monk?

a) Nag Sen

b) Nagarjuna

c) Nagabhatta

d) Kumaril Bhatt

3. T & T P WU & oIy 3NN el oftd
I ehHT Tepriieh T TRINT bt ST FeheT 81

SR U T P F F HI-A1RT T B/E?
a) BaeT 1
b) PaeT 2
c) el 1 3R 2
d) 1,23k 3

8. IspT T AT b1 ATRT A AT &
a) PRUIT AR
b) BT AR
c) Plell AR T USIId HIIR
d) el AR

9. FEYF I TUIert & F H, FrfeiRad demMl R AR
Hifore:
1. FEIYA T IcUTT befrer vt & THRITST IR A 83 &
2. TNIT fofea 5 S&IYF bl 9 & fbr
HEID ol Bl
3. QIR BT, A SR eI S Pl TT 910
fopmIR &Y Fee At 8l
SR T T HAT § F HH-A1RY T 8182

a) Padf 1 3R 2

b) PaeT 3

c) el 1 3R 3

d) 1,233

10, =1 $F TG THFRIRT H AT ST & SHDPT 49 &
a) T 3R drsaE &Y T
b) IshT T 77 bl HIHT
c) IefuT = AR & 2 arferepe &
d) 3mReT AfeTeT T &

11. ‘Ffeieos e wRa FAFT ae ffdle &R o dfg
fre] & He TS b Py H 2

a) T AT

b) FRTN[T

c) AMmHE

d) FIR g




12. Consider the following points
election of the President of India.

regarding the

1. Electoral college is not required for the election of
President in India like in America.

2. Candidate's age should not be less than 35 years
3.The base of votes is 1971 census

4. Members nominated in this can also vote
5.There is a provision for preferential voting

Which of the above statements is/are correct?
a)1,2,3and 5

b) 2,3,4,and 5

c)2,3and 5

d) all of the above

13. Which is the river that cuts the equator twice?
a) Limpopo

b) Zambezi

¢) Congo Zaire

d) Mahi

14. Srisailam Tiger Reserve is located in which one of
the following states?

a) Telangana

b) Tamil Nadu

c) Kerala

d) Andhra Pradesh

15. Ramsar Convention is related to?
a) To prevent barren land

b) To prevent air pollution

c¢) To prevent water pollution

d) for the protection of wetlands

16. Consider the following

1. paddy fields

2. Mining of Coal

3. Pets

4. wetlands
Which of the above is the major source of greenhouse
gas methane?

a)1and 4

12. AR o ICUFT b FTd b IR H Freaferiaa famgatl
R Byl
1.9R H I¢UfcT &b AT P foIT SMReT T R Fafered
AUSST P el T8l 8l & |
2.yl &Y 31 35 A J & el B aTfey
3.31CT BT MR 1971 HY TFIUFT &
4399 1T Fe oY 9ie < Fad &
53395 3Tferm= (SR f~erret) 9 T uraer giar &
SR U T FHAT F F HIF-A1/T FET 282
a)1,2, 335
b) 2,3,4,31R 5
)2, 335
d) SR ot

13. JHEY XGT BT & IR PIe ATell 7l DI AT 82
a) fefamar
b) TSIt
c) RN SRR
d) &l

14. f=faRed Tt 7 9 Tt # shide™ ergR Rod
JITRIT 872

a) AT

b) dffeT TG

c) PR

d) 3TiE ueer

15. IR Hea e [y AT 872
a) SR A BT AP &
b) T HEOT e &
c) el STV 1T £
d) 37T AT & HRET B

16. FrfIRIT R faaR Hifvre
g & W
PRI BT G

qTeT oY)

o

0N =

SHRIH 7 A DI IRT A ere9 /7 197 & AT &,
a) 13k 4




b) 2 and 3 only
c) 1,2 and 3 only
d)1,2,3and 4

17. Consider the following statements about Narmada
River:
1. It is the largest west flowing river of Peninsular
India.
2. It originates from Multai in the Betul district of
Madhya Pradesh.
3. Sardar Sarovar Project has been constructed on
this river.
Which of the statements given above is/are correct?
a) 1only
b) 1and3only
c) 2and 3only
d) 1,2and3

18. Which of the Indian States does not share a land
border with Myanmar?

a) Arunachal Pradesh

b) Nagaland

c) Manipur

d) Assam

19. Consider the following statements about King
Kanishka in the ancient history of India.
1. Kanishka was a patron of Hinayana School of
Buddhism.
2. He got the commentaries of the Three Pitakas
engraved on the sheets of red copper and raised
Stupas over it.
Which of the statements given above is/are correct?
a) 1only
b) 2only
¢) 1and 2 both
d) Neither 1 nor 2

20. “NASA scientists have observed the fifth state of
matter on the International Space Station for the first
time using ultra cold atoms which can unlock the
mysteries of the Quantum Universe”. In this context,

b) FdeT 2 3R 3
c) HdeT 1,231k 3
d) 1,2,33K4

17. 99T A<t B IR § fF=fIRad oM IR foaR av:
1. T8 URIGIURT YR &Y I § g8 aTelt qe I<f
I8l
2. I8 HEY U &b Sl fel P Ferars A fFreperet
2l
3. 39 T TR ARER ARIGR TRASHT T FSHioT fosam
T 8l

SR T Y HUAT § F HH-A1/RY T 8782
a) BaeT 1
b) FdeT 1 3R 3
c) Bael 2 3R 3
d) 1,233

18. RS BT DI AT 5T KR &b A1 JfH AT QAT &
AT 872

a) 3T UaeT

b) AFTTS

c) AR

d) T

19. YRd & URH Sfde™T § 9T ®fsh & R §
feferRad oMt &R faaR |
1. BTSH dig & F EITT TSR & TREH
2. S 8 M fUedl & YT BT eTel i B ATe=T U=
IhITT fRAT 3R IFh HUR Y FaT|
SR T T HUAT § F HH-A1/R T 882
a) BaeT 1
b) daet 2
c) 1 3R 2 3T
d)Far1RT&2

20. "7 o JSA(TehT 7 Ygell IR 3Hegl Ples IRATIS B
SWINT IRP SRS faRer ¥eeM R uaref & uiadt
AT PT IfAAID fhAT & ST FdicH &S P &l Pl
et T &'l 39 ey H, FefoiRaa F & sie-T uaref it




which of the following is the Fifth State of Matter?
a) Plasma
b) Bose-Einstein Condensate
c) Gold Particles
d) Liquid Gel

21. The solution to the problem of salinity and
alkalinity in the soil is

a) Dry farming method

b) Application of gypsum in the fields

c¢) Plantation

d) Agriculture along contour lines

22. Match List 1 with List 2

List1 List2
A. acetic acid 1. butter
B. lactic acid 2. lime

C. Butyric acid 3. Vinegar
D. Citric Acid 4. Milk
Give the correct answer using the code given below
a) A1,B3,C4,D2,
b) A3, B4,C1,D2
c) A3, B1,C2, D4,
d) A4, B3, C2, D1

23. On which principle does the optical fiber work?
a) total internal reflection

b) refraction

C) scatter

d) interference

24. For which year has India set a target of net zero
carbon emissions to deal with climate change?

a) 2050

b) 2060

c) 2070

d) 2030

25. S-400 was in news recently, what is it related to?
a) the star discovered by NASA

b) Military defense equipment manufactured by
Russia

qled STaelT &7
a) TellHT
b) FF-3NTECT DHeTdT
c) M & BT
d) TR oieT

21. 2 5 @RI UF &RRIAT Y THRAT BT T &
a) 5P Y fafer
b) ¥t H T BT TINT
c) EI&WIWT
d) T @3l & TR By

22. T 1 1 T 2 & Frr GATRT DITTT

il 2
A. THifed 3T 1. HEE

B. oifdreep 3T 2.491g

C. §eRep 3 3. Rixer

D. |Tsfed 3rel )

=T g BT TANT PR HET I Mo

a) Af1,B3,C4,D2
b) A3, B4, C1, D2
c) A3,B1,C2, D4,
d) A4, B3, C2, D1

23. &1l T (Optical Fiber) e fAgIT 0 ™ vl &
a) qUf TR TRl
b) 3Uga
c) U
d) aafaRor

24. SeaR] URacH | FueT 8 9Rd T ¢ SR P
IS BT & febe g9 o foTu YT & |
e) 2050
f) 2060
g) 2070
h) 2030

25. T -400 BTeT & H =51 H 2T, I8 ey Faf-ere 82
a) TIT & GRT WIS -7 ART
b) & gRT AHT T 81T IuawT
c) SITI T § T Gch SUUE A




c) Joint satellite mission of Japan and EU
d) Missile system manufactured by DRDO

26. With whom is the recently discussed 'Operation
Ganga' related?
a) Cleanliness campaign to keep Ganga clean.
b) Planting of trees on the banks of river Ganga.
c) To take away the industries established on the
banks of river Ganga.
d) Bringing back the Indian students trapped in
Ukraine.

27. Which of the following statements is/are not
correct about Laffer Curve?
1. Laffer curve shows the relationship between the tax
rates and the amount of tax revenue collected by the
Government.
2. Laffer curve is based on the economic idea that
people will adjust their behavior in the face of the
incentives created by income tax rates.
Which of the statements given above is/are correct?

a) 1only

b) 2only

c) 1and 2 both

d) Neither 1 nor 2

28. Which of the following text doesn’t contain the
verses of Kabira?

a) Guru Granth Sahib

b) Panch Vani

c) Bijak

d) Sahitya Lahri

29. If the CRR (Cash Reserve Ratio) is increased by
Reserve Bank of India, then which of the following will
be the result?

a) Government debt decreases.

b) Monetary liquidity in the economy decreases.

¢) More FDI comes into the country.

d) Increase in credit flow to the disadvantaged

areas.

d) SIRIRSRN gRT Ffd BRaTser Rices

26. BTcT 81 § A ‘IR T fohery Haferd & 2
a) T BT TS TG & AHIS AR
b) T &Y & THTR FaiT BT T
c) T e b febeTTR TrTfet I T G eIoTT
d) ST H B YRR BT T <l =T

27. AR 56 P IR § F=foiRad § § B AT B Far
el 8/87?
1. ATHR Ieh TRPR GIRT DT PR hl &R 37K - Ioreq Y
3T & et Hefer Y ST B
2. TR ash 3N faaR wR menRa & &5 oA e &=y
GRT ST U McATEAT &b AT 319 IER Pl FHRIST
B
SR T MY HUAT § F HF-A1/RT T 87272

a)?b_cl?ﬂ

b) daet 2

c) 1 3R 2 3

d)Far1RTE2

28. fer=ifeTRac d & fod Bfcr F ek &b B 78 82
a) To U i
b) U= gruit
SEINED
d) AIfeT gy

29. IS IR ROId 8% GRT HIBIRAR (Cash Reserve
Ratio) & gfeg &1 STl & a1 7= 7 I aram aiRorm 8 2

a) URDR P H/UTH PHHT IMTCAT &

b) arefegeer F Hifgd ARerdT H FHHY ATl §

c) S AP THSIIME 3Tt §

d) dfard &= & KT HaTE ST &




30. On which model was the first five year plan
based?

a) Mahalanovish model

b) Herrad Domar Model

¢) Gadgil model

d) Kasturi Rangan Model

31. Which of the following is not correctly matched?
a) Pitt's India Act---—--- Warrenhastings

b) Doctrine of Lapse------- Dalhousie
c) Vernacular Press Act --------- Curzon
d) llbert Bill - Ripon

32. Who among the following got organized in Satya
Shodhak Samaj?
a) A movement for the upliftment of tribals in
Bihar
b) A movement of temple entry in Gujarat
¢) An anti-caste movement in Maharashtra
d) a development movement in Punjab

33. Which one of the following observations is not
correct about 1857 Revolt?
a) It had limited territorial spread.

b) It had characteristics of Hindu Muslim unity.
c) Educated

backwards looking.

Indians viewed this revolt as

d) A large number of big Jamindars participated

in this revolt.

34. With reference to the Tides, consider the following
statements:
1. Spring tide happens when the Sun, Earth and
Moon align in the straight line.
2. Neap tide happens when the Sun, Earth and
Moon are positioned at right angles. .
3. The East Coast of India experiences more tidal
ranges compared to the West Coast.
Which of the statements given above is/are correct?
a) 2and 3 only
b) 1and2only
c) 3only

30. T Yoy ASTT fopsT Hiset UR TR oI 2
a) YT qieel
b) IS SR Hisal
c) Trefiet AlSel
d) PERI I Hieer

31. Fer=IfeTRaey A & el et Goferd el & 2
a) fUcasfearvae - IR
b) SIBIH SH TR -ermmee SRS

32. FrAferRae 3 & oI Fegened FHToT ¥ JfSd gaiT ?
a) foeR ¥ anfearRrat & S & U& JTale
b) ORI ¥ AR T4eT BT Ueb et
c) HERTSS H U Sfer foRelY ariater

d) U9NTE ¥ U [AdhRT T

33. 1857 & fIgIg & IR § Fr=foiRad & & HI4 T 3ractia—
TEr T8I 87
1. 39PT &A1 foRraR e e
2. 3 fog R Uehd &t farad offi
3. fIféra yRdr 597 fagie @ i & IR <= a1t &
HY N G
4. 35 g1 ¥ o< ST § o< SEISRT = 9RT form

34.59R & F ¥, FrferRad oMl W R Hifg:
1. T AR T BT & ST G, gt 31R T Uep ATelt v
LRSI R
2. T SAR T9 BT & 99 I, gt 3R THT FHDIv R
fReere 81T &1 .
3. 9IRS & Yl T IR UfdHl e &l Joim § 31fee SqR-H1eT
T 3FTHE BT &
SR I T BT F D1 Fel 8782

a) Pael 2 3R 3




d) 1,2and3
35. 'Buddhacharita’ was the first book on Buddhism
written in Sanskrit, authored by

a) Nagarjuna

b) Rahul Sankrityayan

c) Ashvaghosha

d) Asanga brothers

36. The painting in medieval India was at its peak
during the reign of whom?

a) Akbar

b) Shah Jahan

¢) Humayun

d) Jahangir

37. Under which article of the Indian Constitution,
Parliament can make laws on the subject of the State
List to give effect to international agreements?

a) Article 249

b) Article 250

c) Article 252

d) Article 253

38. How many types of freedom are mentioned in the
Preamble of the Indian Constitution?

a)3

b) 2

c)5

d)4

39. From which article of the constitution to which
article is the mention of religious freedom?

a) Articles 25 to 27

b) Article 26 to 28

c) Articles 25 to 28

d) none of these

40. In which case the Supreme Court of India has
clarified the principle of 'Basic Structure' of the
Constitution of India?

a) Golaknath Case 1967

b) Sajjan Singh case 1965

c) Shankari Prasad case 1951

d) Kesavananda Bharati case 1973

35. ‘YEART &P ¥ fordll gfEed R ugell g of,

36. AEIPBIAT YR § foddbell 310 Tqicdd W fhg &
ATRA pret 7 off 2

a) 3APhN

b) SmESTEl

c) g

d) SErR

37. IR e & f5q 3Ffeoe & i RIS
TSI & T ST & IS /19T Gl & 9T R BT
T Fhcll & 2

a) 3FITUE 249

b) 3TIERE 250

c) 3BT 252

d) 3FJeue 253

38. YRR AT Ht UdTa=T § fdhat ThR Pl Faa=Ia
BT I & ?
a)
b)
c)
d)

39. YT TTT T Jeeied FALM & o srfeee §
feba aTgene e & 2

a) 3FJTVE 259 27 TP

b) 3OS 26 ¥ 28 TD

c) STV 25 28 D

d) A DI T

A 0NN W

40. FRT P Faod AR | AR b HTGT &b ‘SATERIT
T & Rig B febet ey H T foparm & 2

a) TADB-TY B 1967

b) oo g a5 1965

c) e gIE 1S 1951

d) @S R arg 1973




41. Why is there a great concern about the ‘single use
plastics’ that are released into the environment?
a) they are non-biodegradable in nature.
b) they take several years to disintegrate.
c) they disintegrate into micro-plastics with a
potential to enter the food chain.
d) all of the above

42. The percentage profit earned by selling an article
for Rs 2425 is equal to the percent loss incurred by
selling the same article at Rs 2225. At what
percentage should the article be sold to earn 28%
profit?

a) 2967

b) 2679

c) 2796

d) 2976

43. Rahul spends 25% of his monthly scholarship on
books. Out of the balance amount he spends 75% on
the hostel and college fees. If he lefts with Rs.300 at
the end of a month, what is Rahul’s monthly
Scholarship?

a) 1200

b) 1600

c) 2400

d) 2000

Q44. A shop owner offers the following discount
options on an article to a customer:
1. Successive discounts of 10% and 20%, and then
pay a service tax of 10%
2. Successive discounts of 20% and 10%, and then
pay a service tax of 10%
3. Pay a service tax or 10% first, then successive
discounts of 20% and 10%
Which one of the following is correct?

a) 1 only is the best option for the customer.

b) 2 only is the best option for the customer.

c) 3 only is the best option for the customer.

d) All the options are equally good for the

customer.

41. TR § B T dTel 'Thel SUANT dTet WiRed' &
IR ¥ U ST I it 87

a) 4 TpfT A R-aRANfSHSTA &l

b) 3= faufed 89 § &s HTeT il 2

c) d TTeN %A H YT HR T &Il D AT F&H TR
T fqafed & 9 8

d) SRR it

42. UG oRg Pl 2425 B9 TR 9 F WTH 2T oy 2225
BUY R 99 PR §S BI P aRTeR 8] 28% o UTH HRA P
1T &Ig @ foeit HIF IR =T ST =fRT?

a) 2967

b) 2679

c) 2796

d) 2976

43. g AU HTRAeD BIAGIRT BT 25% fefral UR el el
81 A AR F F I8 75% BHERT 37X PieieT HI BT R G
R 81 I HEM &P 37T H 300 BUY A9 FA 8, AT 8 DY
HA1RAS BIAGHRT foberiT 872

a) 1200

b) 1600

c) 2400

d) 2000

Q 44. T THM BT Aifeid T AEd P W oG W
ffeTRad B faehed Ter el &:

1. SRR BT 10% 3R 20%, 3R B 10% Jar &R o
URIRIEN

2. 20% 3R 10% P PP B, AR R 10% FaT HR BT
T PY

3. gl JaT R AT 10% BT M &R, R 20% AR 10%
b ShftIeh T T T PY

frforRad & & o= a1 T 872
a) UTED & foTT el 1 & Fa T8T [ddhey &l
b) UTED & oY hael 2 B I 3BT fAdhey &l
c) UTE® & ol dhdel 3 HeRT 3resT [ddhey Bl

d) UED & fou Tt ey T ©U J 312w &

10




45. Kusum was four times as old as her son 8 years
ago. After 8 years, Kusum will be twice as old as her
son. What are the present ages of Kusum and her
son?

a) 32years, 12 years

b) 40 years, 16 years

c) 56 years, 22 years

d) 64 years, 24 years

46. A govt employee drives 10 km towards South
from his house and turns to her left and drives another
20 km. He again turns left and drives for another 40,
then he turns to his right and drives for another 5 km.
He again turns to his right and drives another 30 km
to reach his office where he works. What is the
shortest distance between his office and his house?

a) 20 km

b) 25km

c) 30km

d) 35km

47. The number whose square root is thrice of its
cube root is

a) 64

b) 243

c) 729

d) 1024

PASSAGE

UNEP defines Environmental Impact Assessment
(EIA) as a tool used to identify the environmental,
social and economic impacts of a project prior to
decision- making. It aims to predict environmental
impacts at an early stage in project planning and
design, find ways and means to reduce adverse
impacts, shape projects to suit the local environment
and present the predictions and options to decision-
makers. By using EIA both environmental and
economic benefits can be achieved, such as reduced
cost and time of project implementation and design,
avoided treatment/clean-up costs and impacts of

laws and regulations.

45. DT 8 ¥ Ugel U I T IA1Y BT AR T &ff | 8 99
9IS PH DT AT 370 YA bl 3R bl AT 8 YA IR
IS TF DT I N T 82

a) 3299, 12499¥

b) 404dY, 16 ay

c) 56dY,22dy

d) 6449y, 24 a9

46. U ARHRT HHART 310 B8R I Sfajor it otk 10 fap.A.
ST T &, R 98 3T 918 3R JaaT & 3iR 20 ..
TEr FT T 81 a8 fhe | arff 3R g8 a7 & 3R 40 BT,
TS TATT &, ﬁwa‘efamfrara"raﬁ‘\fq@m%*aﬁ‘wﬁﬁq“r
W@W%‘lﬂgﬁwﬁaﬁaﬁﬂ?sﬂ?q@m%aﬁ?m
WWQ@%%WSOWGﬁ?dmm &l P T
3R I BR b drer = g febereit 82

a) 20km

b) 25 km

c) 30 km

d) 35km

47. I8 AT FSRIepT g1 et Ieh TFHeT T o T 8, &
a) 64
b) 243
c) 729
d) 1024

TReg

JuASUT TITERUT JTd 3fTehet (S3TST) T ORI o 3 Usel
fopedT aRASHT & qfaRvir, AT 3fR 3nffe Tyt 6t
TSI IR & o0 SUANT fhT S dTel SR & HT F
RS PHRdT &1 SHBT S23T TRASHT RIS 3R fSoiTe
Y gRfYe oR0T ¥ qAiEaRoNT gurar 6 afasyamft oo,
Ufigpel TEl BT B PR B I SR AR T,
TR GITERT & IIRY URASTIS Bl bR AT 3R
fyofer o Al & oy fasgaforIt 3R febed SR =T
&1 SIMST BT YA IxP GATARYT 3R 3N ST ke &
ANT TH fBU ST Fad &, S 6 37 aFd iR afRieeT
BRI 3R ST BT T, ITAR / TS T AN 3R

I IR AR & TTa J ST S 8
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48. Which of the following is the most crucial and
logical interference that can be made from the above
passage?

a) EIA can eliminate the environmental impact of
a project.
b) EIA is time-consuming and costly exercise.
c) EIA is an area specific tool and it leads socio
economic and environmental benefit.
d) None of the above

49. A and B walk around a circular park. They start
at 8am from the same point in the opposite directions.
A and B walk at a speed of 2 rounds per hour and 3
rounds per hour respectively. How many times shall
they cross each other after 8.00 am and before 9.30
am.

(a) 5

(b) 7

(c) 6

(d) 8

Q 50.
ratio 4:3 and their monthly expenses are in the ratio

The monthly income of x and y are in the

3:2. However, each saves Rs 6000 per month. What
is their total monthly income?

(a) Rs 24,000, 18,000

(b) Rs 20,000, 15,000

(c) Rs 16,000, 12,000

(d) None of the above

48. f=feiRad & & @I a1 T Fecaqul 3R difdsed
BT & ST SURIh H1T 3 T ST HepelT 872
a) S3NTSY W YRS P TaTeRUNT TTd &Y THTH Y
DT &l
b) SISV THY o dTeit 3R FE dhare &
) ST U A7 RIRE SyaRwr § ok g7 |G
aefep @ik gafaRufir Ay fit 3R of ST &1
d) SWRRhH I B T2

49. AR B T JRIIPR U W Feld &l b & farg A
8am fui feemall & =etd € | A I U & U B H 2
TeFPR SFTAT & 3R B Uep T H 3 R oIl & | I Teb AR
¥ 8.00 am 31R 9.30 am & 919 § et IR feiir.

(a) 5

(b) 7

(c) 6

(d) 8

Q 50. x 3Ry DI ATRID 3T 4:3 & AT H & 3R b
Y 3:2 & U H &1 3R Ucdeb © 6000 HfT ATE 1 &
qY ST Pt AT AT T 82

a) Rs 24,000, 18,000

b) Rs 20,000, 15,000

c) Rs 16,000, 12,000

d) None of the above
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